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Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

OR (3121a1)
Explain the following terms in regards to a
transistor :
(1) Current gain
(i1) Resistance gain
(ii1) Voltage gain

(iv) Power gain

foddt e @ forg fe=Tifea usl @
qufs H—

(i) &RT @9

(i) gfeRier <

(iii) diecST aTH

(iv) wfda <+

Explain the RC couple amplifier. Discuss the

band gain consideration also.

8

R-C Jdd TUATHRR & ATET B | 98 T

o @ faar &1 fY gofa N |
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(i)

(iif)

(iif)

(iv)
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fodl srgara® a1 yfoRigwar sidl 2—
(31) 10°3nH.—Ho

&) 10°" 100 Ao & 14

(&) 1049 10* snH.—Ho & &

(%) 10*3MH.—lo & HUR

In a P-N junction without biasing, the P-side
is:

(a) Negatively charged

(b) Positively charged

(c) Uncharged

(d) None of the above

foft P-N 9fr & fa=r arafi
#, P—aR% BhaT 8:—

(31) FoTTHS aret

() aTHS 4arot

(@) fa=r gt @

(?) 379 | ®Ig

Zener-diode is used as the main component
in D.C. power supply for

(a) Rectification

(b) Voltage regulation

(c) Filter action

(d) Both (a) and (b)

P.T.O
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GROUPC

Answer all Five Questions.

ol uig gl & SR o

7. Define forward and reverse biasing of PN junctions.

8§x5=40

Explain the V-I characteristics of PN junctions
diode.

PN <fSr &1 e sify=fa v ge=emd
IR @ ar=ET w¥Y | PN Gf srs @
V-1 3if¥rcterer &) fad=a=m a3 |

OR (3121an)

Explain the need for biasing a transistor when used

as an Amplifier.

S STfoiexy &l THlBRER & wY A U
foar Srar @ a9 AfEfa dxa B Swvd |
gidl 37 aaraEr &Y |

8. What is an operational Amplifier? What are the

characteristics of an Ideal amplifier? Explain it. 8

0T3014

(vi)

(vii)

(vii)

(viii)
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Raa @1 aRg &1 31 & fev giforex

(31) ghem & He—3iH A
(@) s9em "@qw

(|) dec—3iw AT A
() &oem & wfea

AJFETisa............ controlled device.
(a) Current

(b) Voltage

(c) Power

(d) All of the above

Ud Afr 83 9919 ¢Tforeey .
fraas gfaa 21

(1) arr

(@) Qrecddr

(=) wrfea

(%) Swiaa g+

Which transistor configuration has highest
current gain?

(a) CE

(b) CB

(c)CE & CB

(d) CC

P.T.O
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4.

Show that the NOR gate is universal building -block.

4
NOR 7i¢ Us gdaard) ¥a+r1 ©s 2, 9div |

OR (3121a1)

A CE- connected transistor has § =100 and
Iz =50pA. Compute the values of a and Ic.

Ud C-E9S 8U giforeex # B =100 oI
Iz =50uA f&AT B3I 2 | o AT Ic & A A
B |

Draw the symbol and equivalent switching circuit

of OR gate. Also write truth table for two input.
4

OR Ve & fas a2 gHa Jaged Rafdr
uRuer &1 <orid | arer & <1 fafase & fog
AT <gd dl ford |

OR(372rd)

Define adders and subtractors.

YSY dAT ‘G dex’ I ATT DY |

0T3014

(x)

(xi)

(xi)

(xii)

7 20305

Udh 3Imast op-ampﬁ' ghar 8
(31) 3r=d Av

(¥) =< Ri

(&) T[T Ro

(%) Swiaa g+l

The digital system usually operates on.........
system.

(a) Binary

(b) Decimal

(c) Octal

(d) Hexadecimal

f$firee ugfa wwm=ra: . ygfa =
1 HIA 2 |

(@) argTh

(@) <uf®

(|) Irscar

(]) wewwfi®

A half adder circuit has two inputs and:
(a) One output

(b) Two output

(c¢) Three output

(d) None of these

P.T.O
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DAC

(a) Stands for digital -to - analog converter

(b) Is often referred to an encoding device

(c) Its sometimes considered a decoding
device

(d) Both (a) and (b)

DAC 38—

(31) fefSTeca—g—qATaiT $Tdex

@) SIS Fgfaa &1 avg FEx
daffa

(@) feaifeT gfda @ ave Fi—a+

(®) <Al (31) a2 (@)

0T3014
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xiv) fHdl R-C gfaa vaeliwrR § dieew

(xv)

(xv)

(xvi)

AT Bldl 2—

(31) =em AT > WA qgdr 2
(@) s9en sngft & Wi Gedr @
(@) ts Agiy 9 # Rer wgar 2
(@) 7 9 BIg 7L

An op-ampisa:

(a) Direct coupled high gain amplifier

(b) Device to perform linear operations

(c) Device to perform non-linear operations
(d) All of the above

U op-amp a—

(a1) drem gfad S=a o YRR
@) v gfaa ot Rae gl Fvar 2
(@) e gfaa it sRRad gzl Fvar @
(%) Swiaa g+l

The output of the gate is 1 if and only if all
the inputs are zero. The gate is :

(a) OR gate

(b) AND gate

(c) NOR gate

(d) NAND gate

P.T.O
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